MANLY DISTRICT CRICKET CLUB

53rd ANNUAL MEETING

OFFICE BEARERS, 1930-193F CEIVED

Patron:

ARCHDALE PARKHILL, Esq., M.H.R.

President:

R. A. OXLADE, Esq.

Vice-Presidents:

THE MAYOR AND ALDERMEN OF THE MUNICIPALITY OF MANLY, DR. R. B. MINNETT, DR. G. M. BARRON, COUNCILLOR A. G. PARR, Messrs. J. T. EASTERBROOK, C.B.E., C. H. CALVERT, F. TRENCHARD SMITH, L. M. TRIGGS, F. ROW, J. K. WALTON, T. FRANKLIN, H. T. MATTHEWS, E. BRISCOE, H. WALL, A. DIAMOND, H. HAYMAN, J. SEARLE, Snr., E. J. MUNRO, HON. E. H. FARRAR, M.L.C.

Hon. Secretary: R. FREEMAN. Hon. Treasurer: C. B. COCHRANE.

Asst. Hon. Secretary:

G. LOWE.

Delegates to N.S.W. Cricket Association:

R. A. OXLADE and C. B. COCHRANE.

General Committee:

G. M. DUNLOP, J. BETTS, G. MILLER, K. WALTON, C. SEARLE, A. LITTLE, C. HARRIS, J. RANDALL, L. GWYNNE.

Provisional Selection Committee:

G. M. DUNLOP, L. GWYNNE, A. LITTLE, G. LOWE, R. FREEMAN.

Hon. Auditors:

Messrs. R. A. MUSGRAVE and J. L. SEARLE.

Hon. Life Members:

Messrs. R. PITT, W. S. MITCHELL, R. A. OXLADE, J. RANDALL, and C. B. COCHRANE.

Life Members:

DR. G. R. P. HALL, Messrs. C. J. CARROLL, F. P. MORRIS, P. H. O'BRIEN, A. SMIDMORE, E. E. HASSELL, T. J. UNDERWOOD, D. T. WATT, S. R. WALFORD, W. H. HANNAM, R. J. WILD, C. de KANZOW, C. F. W. LI.OYD.

List of Members, 1930-31.

Austin, G. Adrian, B. Betts, J. Bowen, K. Byrne, L. Barrett, M. Cook, H. Cohen, R. Collins, K. Cook, B. Cummins, F. Carruth, W. Cheeseman, G. Cullen, C. Copes, J. Cavan, R. Diamond, A.

Diamond, C. Dunlop, G. Dean, S. Davis, N. Driver, A. Earle, L. Evens, A. Esdaile, H. Freeman, R. Gwynne, L. Harris, C. Hewson, G. Johnson, A. Jockel, H. Johnson, H. Jackson, A.

Jenkins, B. Johnston, S. Kelleway, L. Lambert, C. Lewis, R. Lowe, G. Lowe, O. Little, A. Miller, G. Mitchell, F. Marich, P. McGregor, I. Payne, A. Phillipps, M. Row, W. Robertson, G. Searle, C.
Searle, J.
Spencer, G.
Stedman, F.
Sloane, C.
Shipway, J.
Sutton, B.
Simmons, F.
Thomas, E.
Trumper, V.
Walton, K.
Wallach, W.
Watson, J.
Wallace, S.
Walton, W.
Yeldham, J.

Annual Report and Financial Statement

To be submitted for adoption at the Annual Meeting, to be held in the Sporting Union Rooms, The Oval, Manly, Thursday, 16th July, 1931, at 8 p.m.

GENTLEMEN,

Your Committee presents for your adoption the 53rd Annual Report and Financial Statement.

It is noted with pleasure that your Club showed an improvement on the previous season, and also that many young players made their presence felt in the various teams.

Your Committee extends its congratulations to Randwick, on winning the Club Championship, 1st, 2nd, and 3rd Grade Premiership, also the "B" Grade Shire, and Poidevin-Gray Shield; to Marrick-ville, on winning the "A" Grade Shire.

The First Eleven played 14 matches, winning 5, losing 7, drawing 2, and occupying 10th position in the Competition Table; as against 13th last season. 2927 runs were scored, at an average of 18.88, as against 3539 by opponents, at an average of 23.43.

The batting average was won by F. Cummins, with 500 runs, at an average of 45.45, also securing the aggregate for the team. G. Austin was runner-up, with 401 runs, average 23.58. C. Diamond and A. Payne were 3rd and 4th, with averages of 20.6 and 20.28 respectively. Scores of 50 and over were: F. Cummins, 80 n.o., 76 n.o., 73 n.o., 73, 71, and 58; G. Austin, 63 and 56; A. Payne, 63 and 51 n.o.; L. Gwynne, 80; H. Esdaile, 65 n.o.; C. Diamond, 62 n.o.; S. Wallace, 67; E. W. Newman, 59.

The bowling average was won by G. Austin, with 27 wickets, at an average of 12.66. B. Adrian was runner-up, with 11 wickets, average 13.45, being followed by W. Gagie, 36 wickets, average 19.5. This player also secured the greatest number of wickets. The greatest number of catches were accepted by C. Harris 15, and G. Austin 12.

The Second Eleven played 14 matches, winning 4, losing 8, drawing 2, and occupied 13th position in the Competition Table, as against 15th the previous season. The batting average was won by J. Yeldham, with 166 runs, at an average of 20.7. B. Sutton was the runner up ,with 348 runs, at an average of 20.5; followed by C. Searle and M. Phillipps, with averages of 17.4 and 17 respectively. C. Searle secured the highest aggregate, with 383 runs.

The highest score for this team during the season was made by W. Leckie 72, v. Western Suburbs. Other scores of 50 and over were made by M. Phillipps 57 n.o., L. Byrne 55 n.o., K. Collins 54, C. Diamond 51, and J. Watson 51.

The bowling average was won by L. Byrne, with 18 wickets, at an average of 14.6, followed by B. Adrian, with 34 wickets, average 16.6, C. Diamond 19.1, W. Leckie 19.5, B. Sutton 19.6. The last mentioned bowler obtained the greatest number of wickets, namely, 46.

The runs scored were 3257, average 15.74, as against 3562, average 21.1, by opponents. The most number of catches were taken by R. Freeman 11, and B. Sutton 10.

The Third Eleven played 14 matches, winning 7, losing 6, drawing 1, and occupied 10th position in the competition table.

The batting average was again won by P. Lowe with 937 runs, at an average of 72. His aggregate, besides being a record for the Club, was the highest number of runs made by any Grade player for the season. His total includes scores of 210 n.o., 161 n.o., 100, 68 n.o., 63 n.o., 59, and 56 n.o. L. Byrne was the runner-up with 246 runs, at an average of 30.75, and was followed by C. Sloane, average 24; R. Lewis, average 23. Excepting P. Lowe's scores, the other batsmen to score over 50 were L. Byrne 67 n.o. and 64, and B. Cook 61.

The bowling average was won by H. Woolcott, with 24 wickets, at an average of 11. G. Dunlop was runner-up, with 29 wickets, average 13.44, followed by G. Cheeseman, 48 wickets, average 14.22. This player also secured the greatest number of wickets for the team.

The runs scored were 3409, average 20.86, as against 3294, average 17.8 by opponents. The most catches were taken by P. Lowe 18, B. Cook 11, S. Johnson and E. Thomas 10 each.

The Municipal and Shire Eleven played 14 matches, winning 4, losing 9, drawing 1, and occupied 11th position in the "B" Grade Competition.

The batting average was won by H. Jockel, with 215 runs, at an average of 35.83. B. Cooke was runner-up, with 121 runs, average 30.25, followed by J. Watson, average 22.66. W. Wallach secured the highest aggregate, namely, 265. H. Jockel was the only century maker for the side. Scores of over 50 were: L. Earle 71, F. Semmons 58, and J. Copes 51.

The bowling average was won by F. Stedman, with 5 wickets, at an average of 11.22, being followed by G. Cheeseman, with 13 wickets, average of 13.3; R. Cavan, 26 wickets, average 14.27. E. Carruth secured the highest number of wickets, namely, 30, at an average of 14.66.

The runs scored were 2458, average 13.3, as against 2375, average 14.6, by opponents. Wallach took the most catches, viz., 10.

POIDEVIN-GRAY COMPETITION.—Your Club again entered a team in this competition, and it is pleasing to record that the team was successful in winning the "B" Division, and were only defeated by Randwick in the final by the narrow margin of 15 runs.

T. Parsonage, formerly a member of our Club, but now of University, captained the team, and was successful in winning the batting average, with 378, average 47.25, as well as the highest individual score, 178, also 112 n.o. Other averages of over 20 were E. Thomas 24.5, and A. Payne 20.71.

C. Diamond secured the bowling average, with 11 wickets, at an average of 10.1, followed by T. Parsonage, 33 wickets, average 10.8; B. Adrian, 23 wickets, average 16.4; and B. Sutton, 18 wickets, average 19.7.

The runs scored were 1350, average 18.5, as against 1553, average 15, by opponents.

REPRESENTATIVE HONOURS.—Your Committee congratulates F. Cummins on being selected to represent New South Wales second XI against Victoria, and the New South Wales Colts team against Queensland; also C. Harris, on being selected as wicketkeeper for the latter team.

JUNIOR AND SCHOOL CRICKET.—Invitations were again extended to the Manly and District Junior Cricket Association, and the various Manly Schools, both public and private, to practice at the Club nets, under the able supervision of Mr. George Lowe.

JUNIOR CRICKET.—Your Committee extends its congratulations to Deewhy "A" team, on again winning the Manly and District Junior C.A. "A" Grade Premiership, and to White Wings Club the "B" Grade. The Juniors again availed themselves of the privilege of practising at the nets afforded them by your Club.

PRACTICE.—Your Club is still indebted to Mr. Geo. Lowe, for the efficient way he controlled the practices during the season. The attendance at the nets showed a great improvement, and your Committee urge upon all young members the necessity of attending practice regularly, and availing themselves of the tuition which Mr. Lowe so skilfully imparts.

HONORARY SECRETARY.—Your Committee congratulates the Club on securing the services of R. Freeman, in place of Mr. Geo. Dunlop, who so ably filled this position from 1924 till 1930.

DELEGATES.—Your delegates, Messrs. R. A. Oxlade and C. B. Cochrane, were regular in their attendances, and were again elected Chairman of their respective Committees, Mr. Oxlade again being elected to the Australian Board of Control.

FINANCE.—The finances of the Club have, as usual, received the careful attention of your Hon. Treasurer, and as will be seen from the Financial Statement, a credit balance of £19/1/10 is being carried forward to next season.

SELECTION COMMITTEE.—The new rule governing this important question, which was introduced prior to the commencement of the season, has, in the opinion of your Committee, given satisfaction, but recommend a slight alteration.

SOCIAL.—The season was wound up with a very successful Smoke Concert, which was held in the Sporting Union Hall.

COMMITTEE.—Your Committee held ten meetings during the season, and the attendances were:
—R. A. Oxlade 8, C. B. Cochrane 10, G. M. Dunlop 8, J. Betts 6, G. Miller 9, L. Gwynne 7, K. Walton 6, C. Searle 9, A. Little 7, C. Harris 6, J. Randall 6 G. Lowe 10, R. Freeman 9, C. Leake (Manly and District Junior Cricket Association) 6, vice C. Walton 2 (who resigned October, 1930). Also A. Diamond, one of your most enthusiastic vice-presidents, attended at 7 of these meetings.

OVAL.—Your Committee feels that it must mention the disgraceful condition that the cycling track was in during the season just ended, but are pleased to note that, as the result of repeated correspondence and deputations, it has been improved slightly by grading and turfing, although they are of the opinion that the ground will never attain perfection while it remains, and trust that the Council will, in its wisdom, see the necessity for its removal.

THANKS.—The thanks of the Club are due to Manly Council, Hon. Auditors, Caretaker, Scorers (J. Young 1st XI, J. Pitt 2nd XI, D. Wade 3rd XI, and A. Thompson, Shire and Poidevin-Gray), Miss McKenzie, "Manly Daily," and "Manly Times."

MATERIAL.—Your teams were again supplied with the best of material, which gave general satisfaction. Material to the value of £41 is available for the coming season.

NEW GROUNDS.—This very important matter has received the attention of your Committee during their term of office, and have pleasure in recording that plans have been prepared by the Manly Council, with the view of having Balgowlah Park converted into a first-class cricket oval.

SCORE BOOKS.—Your Hon. Treasurer again generously donated a prize for the best kept score book. The prize was awarded by your Committee to D. Wade, 3rd XI. J. Young, the 1st XI scorer, was, needless to mention, not a competitor for the honour.

OBITUARY.—It is with regret that your Committee record the death of Dr. David Thomas, who passed away early in February. Dr. Thomas was the second president of your Club, and occupied this position for over a quarter of a century, and was also a life member. During his long association with the Club, the Doctor always displayed the utmost keenness for its welfare, and was always available to assist in any manner the Club desired. In the death of the Doctor, we feel that we have lost an old and valued friend.

- A. J. Hopkins, who died in April last, was a well-known figure in the cricket world, having represented Australia and N.S.W. on many occasions. He was, towards the end of his career, a member of your first team, and captained the side. "Hoppy" was a man of most lovable disposition, a good sport, and great cricketer.
- S. M. J. (Sammy) Woods was one of the best known characters in International cricket, and was the last surviving member of the famous Woods family of five brothers, who all represented your Club.
- W. H. Fletcher was for many years a vice-president, and as such was a generous supporter and friend.

Your Committee extends to the relatives of these good sportsmen their sincerest sympathy.

REPORT OF THE FIRST ELEVEN-By L. W. Gwynne.

It is pleasing to report the season 1930-31 shows the First Eleven in a better position than the preceding year. From 13th position it finished 10th on the Competition Table. Every game, with the exception of the Western Suburbs match, where the adverse weather conditions went against us, was closely contested.

The main strength of the team was in the bowling. Backed up by good fielding and improved team work, only one side registered over 300 runs. Three sides scored over 200 runs, and ten sides failed to reach that number. Messrs. Gagie, Betts, Cummins, and Austin shared the brunt of the bowling attack.

The batting was weak. The Eleven managed to dismiss their opponents cheaply, but I am sorry to report that if they were called on to pass an average score of 150 runs an innings, invariably the effort would be too big for them. It was the batting that failed the side. Next season it behoves every potential batsman to practice assiduously and earnestly, to try and overcome this palpable team weakness which now exists. To get the best results, it will be absolutely necessary that the players be given every opportunity of practising on true, hard, and fast wickets.

The fielding generally was good. The catching and ground work improved, and there was a better understanding by the players of the respective field positions. Too much attention cannot be given to fielding and general team work. A clever fielding side, possessing anticipation of a high degree, invariably causes the downfall of many batsmen, and, furthermore, it converts a moderate bowling attack into a first-class one. I particularly want to stress the need for the cultivation of the sense of anticipation, and I cannot quote a better example in this regard than Constantine, our recent West Indian visitor. If the eleven happens to be weak in batting and bowling next season, such weak-

ness must be, to assure success, compensated by a strong fielding side, possessing keenness and anticipation.

I want to bring under notice the splendid all-round performances of George Austin. Winning the bowling average, making ten catches, and finishing second in the batting, is a good effort. Indeed, his batting was the more meritorious, because on nearly every occasion he was called upon to open the innings. His bowling improved match after match, and finally, against Glebe, he captured 10 wickets for 50. Keeping the ball well up to the batsmen in that match, he used the wicket, which was slightly damp on top, to perfection. His policy to bowl on the side of the wicket the field was placed, direction, and variation of flight and pace, were the main features in that great bowling performance. Austin's success this year is due to systematic, constant, and earnest practice at the nets.

Your wicketkeeper, Cecil Harris, had his best year. I saw no better keeping in the grade games. He dismissed 27 batsmen, catching 15, and stumping 12. His work was brilliant, and, in my opinion, was second only to the State 'keeper.

A. Payne, S. Wallace, and B. Adrian showed ability, and, with the experience gained, should be better players next year.

H. Esdaile had a disappointing season. Striking form early, for some unaccountable reason he gradually faded away. Perhaps it was lack of confidence, but I am sure this player has ability to make runs, and it is hoped he will have a better season next year.

It is with regret that we will lose the services of Frank Cummins and Jim Betts. These fine players did excellent work last year, and it will be a matter for grave concern to the club selectors to find suitable players to fill their places. Charlie Diamond, I understand, is leaving the district, and will not be with us. I am sure it is the wish of every club member that these players do well with their new clubs—but not when opposed to Manly.

At the request of the Association, the Eleven used cricket balls of Colonial manufacture, for test purposes, in connection with a test against imported makes. It is understood, and gratifying to learn, that the test resulted in the success and adoption of the Australian made ball.

The Eleven played every match hard, but in a sporting spirit. They were always pleased to see each other do well, and the assistance they gave me, helped tremendously to carry out the arduous, though honourable position of captain.

REPORT OF THE SECOND ELEVEN—By R. Freeman.

The team commenced the season in a disappointing manner, as the first three matches should have been won, but missed catches turned the scales against us. An appreciable improvement was noticeable in this direction in the fourth round against Gordon, and was maintained for the remainder of the season.

I have pleasure in commenting on the marked improvement in the play of one of the youngest members of the team—Bede Sutton. During the previous season Bede's performances were such that he was eventually relegated to the Thirds. Last season, however, he was again selected with the Seconds at the commencement, and played in every match, obtaining the greatest number of wickets, 46, scored 348 runs, being second highest aggregate, and accepting 10 catches. He is fully justified in considering himself the team's best all-rounder.

Another young member worthy of mention is Bruce Adrian. He is, in my opinion, one of the best slow bowlers playing Grade cricket, and will, I am sure, hold his position in the First Eleven, to which he was elevated at the close of the season.

Cliff Searle who scored the most number of runs for the side, viz., 383, was our standby throughout the season as opening batsman, and to him is due, in a large measure, the improvement in Bede Sutton's play, as he was at all times a helpful friend and adviser to the youngsters in the team.

Throughout the season every member of the side gave of his best, trying hard for success, and we were a very happy combination.

In conclusion, I would like to thank the Seconds for their support and co-operation, which made skippering both a pleasant and easy task.

REPORT OF THIRD ELEVEN-By P. Lowe.

Permit me to say at the outset that the Third Eleven members thoroughly enjoyed all their matches. We endeavoured to play them in the right spirit, and more than one opposing captain remarked that it was a pleasure to play Manly. Whether this was meant that we were regarded as easy victims, or that we played in a true sporting manner is doubtless open, still we believe that the latter reason was their opinion. Anyway, striving to leave in the minds of your opponents that you are good sportsmen

enhances the value of our Club far more than the winning of competitions.

As in the previous season our team started off very successfully for a number of matches, then went through its lean time before finally winding up the season by winning the last four (4) matches. This state of affairs is mainly caused by the re-adjustment of the various sides after the first few matches, and unfortunately cannot be avoided. It was a pity we were not able to enter another team in the Shire competition, the cause not being the lack of players offering, but the absence of another suitable ground. Many intending players finding their names missing from the opening selection lists either go back to the Juniors or drift into other channels of sport. It is impossible to give all a trial at the beginning of the season. I really believe the higher teams would be better reinforced if we could enter another Shire team. Further, it would encourage more Juniors to join, as we would have an extra ground in the district, thereby saving travelling expenses, which mainly seems to be their bugbear.

Our batting was fairly strong and we had the honour of compiling the Club's highest total for the season, namely, 3 wickets for 403 against Gordon. The total runs scored for and against during the season were somewhat in our favour. L. Byrne, C. Sloane, R. Lewis, B. Cook, L. Earle, E. Thomas and C. Miller scored consistently with the bat, B. Cook especially showing us a number of fine performances. This is particularly pleasing as he is an opening left-handed batsman. L. Earle considerably

improved towards the end of the season. H. Jockel is another boy who should do well.

In the bowling department, G. Cheeseman was our star performer. This right-hand medium-paced bowler obtained 61 wickets, namely, 48 Third Grade, 13 Shire. He turns the ball sharply from the off, and can swerve it as well, all the while maintaining a good length. Our First Grade team should find him in its ranks next season. After the absence of H. P. Woolcott (whose performances were extremely good) from the side, the evergreens, G. M. Dunlop and G. Miller, came to our assistance with the slow, wily ones, and secured some very fine figures. E. Thomas bowled well at the early part of the season. The all-round ability of this young player should carry him further up the ladder. H. Cook and J. Shipway should also do well. S. Johnson merits a meed of praise for his enthusiastic work behind the wickets. Despite several bad lapses, the fielding on the whole was rather good, the outstanding being B. Cook and L. Earle. From a club standpoint, not enough attention is paid to this department of the game. In conclusion, let me add I was given every assistance, and it was a pleasure to lead the side, and I wish them all well in the coming season.

REPORT OF THE SHIRE TEAM—By W. Wallach

The Shire Team did not have a very successful season, only four matches being won out of four-teen played. The games were keenly contested and played in a very fine spirit, but the team should have occupied a higher position in the competition. Bad fielding militated against this and players should realise that good fielding is just as important as batting and bowling, and requires just as much practise.

On several occasions the team was in a winning position only to lose the match through missed chances. The ground fielding was generally good.

Changes in the personnel of the team, caused mainly by promotions, destroyed any chance of teamwork, and this conduced to our downfall.

The batting at the start of the season was good, but after the elevation to higher grades of our best men, it became very weak and remained so until the close of the season. The bowling was very fair, but owing to lack of support in the field, the bowlers did not do themselves justice.

H. Jockel headed the batting averages, followed by B. Cook and J. Watson, and these players are to be congratulated on their fine performances. H. Jockel also scored the only "century," and showed himself to be a fine batsman with the right temperament. F. Semmens was showing good form at the close of the season.

F. Stedman headed the bowling averages, and E. Carruth secured most wickets; both these players are young and are to be congratulated upon their success in their first season in Grade cricket. With coaching they should develop into useful bowlers. R. Cavan and V. Trumper also bowled well.

P. Marich shows promise as a batsman, and future selectors should watch this lad.

The team was a very young one, and the players most enthusiastic; with a good programme as regards grounds, including two matches at Manly Oval, the season proved to be an enjoyable one.

It is to be hoped that these home matches can be retained in future seasons.

I would like to thank the players for their support and co-operation, and also those players who unselfishly put the Club before their own interests, and turned out to play at the last minute.

MANLY DISTRICT CRICKET CLUB

Statement of Receipts and Payments for Season 1930-1931

RECEIPTS. \$\pmath{\pmath{\color{\colin{\color{\con{\color{\color{\color{\color{\color{\color{\color{\color{\color{	PAYMENTS.
£152 13 3	Balance

We hereby certify that we have audited the books, receipts and vouchers of the Manly District Cricket Club for the year ended 31st May, 1931, and that in our opinion the above statement is properly drawn up in accordance therewith.

C. B. COCHRANE, Hon. Treasurer. 4th June, 1931.

J. SEARLE, A.C.A. (Aust.) R. A. MUSGRAVE, A.I.C.A.

Honorary Auditors.

AVERAGES

	MAN	Y FI	RST C	RADE			
MANLY FIRST GRADE. Matches Played 14, Won 5, Lost 7, Drawn 2, Position 10,					10,		
	Con	petiti	on Poi	nts 48.			
	BAT	TING	AVER			and the same of	. 1
Mate		Inn.	N.O.		Runs	Avge. Ca	atches
1-F. Cummins	10	13	2	80	500	45.45	14
2-G. Austin	14	18	1	63	401	23.58	12
3—C. Diamond	8	8	3	62x	103	20.60	2 3
4—A. Payne	13	17	3	63	255	18.21	15
5—C. Harris	13	15	0	67	250	17.85	7
6—S. Wallace	13	17	0	80	298	17.52	
7—L. Gwynne 8—H. Esdaile	10-	13	2	65x	153	13.90	3
9-W. Newman	9	12	ő	59	144	12.00	4
10—I. Searle	5	7	1	19	63	10.50	9 3 4 0 3 6
II-I. Yeldham	6	7	1	31	57	9.50	3
12-I. Betts	14	13	3	18x	71	7.10	6
13-W. Gagie	10	9	3	5	12	2.00	- 1
		x No	ot Out.				
	A	LSO	BATTE	ED.			
				Ir	nings		
J. Watson .					2	46	
					3	26	
W. Leckie .					2	12	
A. Johnston					4	8	
D. Adrian .					2	14	
B. Adrian .					_	Average,	18 88
Runs Scored, 2927. Runs Against, 3539.						Average,	
Runs Agamst, 3337.						riverage,	23.13
D I				AGES.	177	. 1	
Bowler		ers 98	Maiden 9	s Runs	5 W)	ickets A	verage 12.66
1—G. Austin		27	0	148		11	13.45
		78	16	702		36	19.50
4—F. Cummins		45	16	533		25	21.32
5—A. Johnston		40	1	219		10	21.90
6—J. Betts		46	41	886		28	31.64
7—W. Leckie		27	1	131		3	43.66
8-L. Gwynne		29	2	162		0	4-11
>							

	ΔI	SO BO	OWLE	D			
	AL	50 B	O W LL	Wick	ets	Runs	
A. Little					1	4	
H. Esdaile					!	29	
J. Yeldham					1	34 100	
W. Newma					0	11	
A. Payne .					0	26	
J. Searle .				• • • •		20	
	MANLY					D. 40	
Matches Played				Drawn	2, Co	m. Pts. 4.	4,
		Positio		CEC			
	BATTI Matches					Avge. Cato	has
1 I V.1.11	. 6	1nn. 1	0	45	166	20.75	5
1—J. Yeldham 2—B. Sutton		20	3	49	348	20.7	10
3—C. Searle		22	0	42	383	17.40	6
	5	6	3	21	52	17.33	11
	. 12	19	5	57x	239	17.07	5
6-W. Leckie	. 8	15	0	72	243	16.3	3
7-B. Adrian	. 10	16	7	26x	125	143	6
8 I. Searle	6	11	1	43x	146	13.6	3
	. 6	10	0	51	134	13.40	4
	. 7	12	2	55	121	12.10	9
	. 14	21	3 2	54	215	11.94	7
12-R. Freeman .	. 14	20	2	-37	185	10.27	111
	. 8	14	1	25	112	8.61	6
	. 7	11	0	17	92	8.4	3
15-W. Walton		8	0	26	59	7.4	1
		Not		BIAM			1
	AL	SO B	ATTE		-	-	
				1	nnings		
B. Jenkins					4	94	
J. Watson					4	60	
H. Esdaile					4	50 57	
S. Wallace					3	41	
H. Jockel E. Newmar					1	18	
A. Johnsto					1	0	
Runs Scored, 3257					Δ	verage, 15	74
Runs Against, 3562							
Trans Tigamot, 3302							

DOWN NO AMERICA	2 1 1 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2
BOWLING AVERAGES.	3—J. Watson . 5 7 1 37 136 22.66 6 4—F. Semmons . 8 12 2 58x 171 17.10 0
Bowler Overs Maidens Runs Wickets Average 1—L. Byrne 71 10 264 18 14.66	5—H. Cooke 11 16 0 47 227 14.18 0
1—L. Byrne	6—J. Copes 5 7 0 51 97 13.85 2
3—C. Diamond 82 3 363 19 19.1©	7—W. Wallach 14 20 0 41 265 13.5 /3-238 8—G. Spencer 5 6 0 41x 77 15.4 /2-831
4—W. Leckie 37 6 117 6 19.50	9—E. Carruth 11 16 4 27x 144 12.00 6
5—B. Sutton 229 25 904 46 19.65 6—C. Searle 72 10 296 13 22.76	10—N. Davis 5 7 1 31 54 9 9 2
7—A. Johnston 40 0 241 9 26.7 7	11—V. Trumper 10 16 1 21 121 8-06 7 12—M. Barrett 4 6 0 46 20 4 7.6 3-334
8-A. Jackson 69 7 238 5 47.6	13—H. Johnston 9 11 0 21 78 7.4 7.094
ALSO BOWLED.	14—P. Marich 3 5 0 30 37 7.40 0
Wickets Runs	15—A. Evens 3 5 0 25 34 6.80 2 16—R. Cevan 11 15 3 28 69 5.75 3
J. Searle	16—R. Cevan 11 15 3 28 69 5.75 3 17—C. Cullen 8 13 2 14 53 4.87 3
S. Wallace	18-R. Cohen 4 6 1 9x 24 4.80 4
A. Little 0 18	x Not Out.
J. Yeldham	ALSO BATTED.
B. Jenkins 0 15	Innings Runs
H. Jockel 0 23	L. Earle
W. Newman	G. Dunlop
H. Esdaile 0	W. Row 4 27
MANLY THIRD GRADE.	O. Robins
Matches Played 14, Won 7, Lost 6, Drawn 1, Comp. Pts. 55,	G. Cheeseman 5 24
Position 10.	G. Hewson
BATTING AVERAGES.	J. Shipway
Batsmen Matches Inn. N.O. H.S. Runs Avge. Catches	C. Lambert
1—P. Lowe 14	Runs Scored, 2458
3—C. Sloane 5 7 2 33 120 24.00 0	
4—R. Levis 5 8 1 49x 161 23.00 3	BOWLING AVERAGES.
5—B. Cool	Bowler Overs Maidens Runs Wickets Average
7—L. Earle 5 6 0 35 120 20.00 3	1—F. Stedman 25 3 101 9 11.22 2—G. Cheeseman 59 7 173 13 13.30
8—E. Thomas 12	3—R. Cavan 134 24 371 26 14.27
9—G. Miller 13	4—E. Carruth 99 14 440 30 14.66
11—G. Dunlop 8 9 2 25 87 12.42 3	5—W. Wallach 31 1 155 10 15.50 6—C. Cullen 34 1 156 10 15.60
12—H. Jockel 7 11 0 42 136 12.36 3 13—A. Driver 6 8 1 27 83 11.85 0	7—V. Trumper 114 12 364 23 15.82
13—A. Driver 6 8 1 27 83 11.85 0 14—I. McGregor . 4 5 2 11x 16 5.33 3	8—H. Jockel 25 1 140 7 20 o 9—H. Cooke 47 3 245 12 20.41
15—S. Johnson 14 14 3 14 55 5.00 10	9—H. Cooke 47 3 245 12 20.41 10—J. Copes 66 5 237 11 21.54
16—G. Cheeseman 8 7 1 3 7 -1.66/16 2	The second secon
ALSO BATTED. Innings Runs	ALSO BOWLED. Wickets Runs
J. Searle 4 48	A. Driver 4 56
R. Cavan	F. Semmons
H. Cook	G. Hewson
J. Copes 3 5	M. Barrett
V. Trumper	A. Hardy
M. Phillips	J. Shipway 0 20
Runs Scored, 3409	POIDEVIN—GRAY SHIELD TEAM.
BOWLING AVERAGES.	
Bowler Overs Maidens Runs Wickets Average	Played 8, Won 6, Lost 2. Won "B" Division. BATTING AVERAGES.
1—H. Woolcott 60 2 264 24 11.00	Batsman Matches Inn. N.O. H.S. Runs Avge. Catches
2—G. Dunlop 108 16 390 29 13.44	1—T. Parsonage . 8 9 1 178 378 47.25 3
3—G. Cheeseman 175.7 21 683 48 14.22 4—G. Miller 45 1 240 14 17.14	2-E. Thomas 4 4 2 32x 49 24.5 4 3-A. Payne 7 8 1 93 145 20.71 4
5E. Thomas 124 18 468 26 18.00	4—C. Diamond 8 9 1 49 158 19.75 3
6—L. Byrne 51 8 238 8 29.75 7—J. Copes 26 3 131 3 43.66	5—B. Sutton 8 8 1 52 122 17.43 3
7—J. Copes 26 3 131 3 43.66 8—J. Shipway 40 3 149 3 49.66	6—H. Jockel 6 6 2 24x 64 16 2 7—B. Cooke 7 7 0 36 91 13 2
ALSO BOWLED.	8—K. Collins 6 7 0 25 73 10.4 0
Wickets Runs	9—J. Watson 4 4 0 14 38 9.5 3 10—M. Phillips 7 7 0 30 59 8.43 6
J. Searle	10—M. Phillips 7 7 0 30 59 8.43 6 11—L. Earle 4 4 0 10 29 7.25 0
R. Cavan	12—B. Adrian 6 6 1 14x 32 6.4 0
L. Earle	13—V. Trumper 1 1 0 5 5 5 0 14—H. Cook 2 2 0 5 5 2.5
A. Johnston	14—H. Cook 2 2 0 5 5 2.5 0 15—S. Johnson 1 1 0 0x 0 —
C. Sloane	x Not Out.
H. Jockel 0 6	Runs Scored, 1350
A. Driver	Runs Against, 1553 Average, 15
V. Trumper 0 8 R. Lewis 0 12	BOWLING AVERAGES.
	Bowler Overs Maidens Runs Wickets Average
MANLY SHIRE ELEVEN.	1—C. Diamond 33 4 111 11 10.1 2—T. Parsonage 122 14 346 32 10.8
Matches Played 14, Won 4, Lost 9, Drawn 1, Com. Pts. 39, Position 11.	3-B. Adrian 86 5 378 23 16.4
BATTING AVERAGES.	4—B. Sutton 106 9 356 18 19.7
Batsman Matches Inn. N.O. H.S. Runs Avge. Catches	5—I. Shipway 1 0 1 2 .5 6—H. Cook 2 1 6 1 6
1—H. Jockel 5 7 1 100 215 35.83 4	7—E. Thomas 13 0 1 43 43
2—B. Cook 3 5 1 41 121 30.25 0	8—L. Earle 5 0 0 44 —